o(d x) (um) for PV

Ratio

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

=
o
W

o0 X) (um)

10°H

102

102 4

o(d x) for merged vertices (um)

Ratio
Ratio

1.5+

........

102 1 10 2
. GeV) 3. @ev)
élw_original StepZ_ttbar-pnase1-newgeom

10

M_pixelCPETemplate_step?2 ttbar-phasel-newgeom
M~ pixel CPETemplateCutChiSquareNew?7 stepZ ttbar-phasel-newgeom

|

G(0y) (um

10°H

102

o(d y) for merged vertices (um)

10

1.4

1.05

Ratio
Ratio

0.95[F 4
0.oftiks

L
%057 (GeV)

10°ET

0(0 2) (um)

.....

10°

T T e

102

10? 10%E

o(d z) for merged vertices (um)

Ratio
Ratio

HY - 1530 S
5 i 2 40

+ L .

. B 4147 .o

...... L - dh PEEEE

T4 + v [

F - .y . L ] P

050 r1es r anll o ls of) 1 P
.0

10 10?
Y p. (Gev)

! 10 5. Gev)



	Contents
	Page 1


